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TUIR

USTED VER

TU LAVAR

USTED CAER
USTED CREER
USTED DEBER
USTED SUBIR
USTED VENIR
USTED BEBER
USTED AYUDAR

TU RESPONDER
USTEDES NADAR
USTEDES SUBIR
NOSOTROS SALIR
NOSOTROS TOCAR
VOSOTROS DEBER
VOSOTROS PESCAR
VOSOTROS LIMPIAR
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USTED IR

TU PONER

TU SUBIR

USTED LEER
USTED SABER
USTED ANDAR

TU DECIDIR

USTED VIVIR
USTED COMER
USTEDES VENIR
USTED COCINAR
USTEDES VIVIR
NOSOTROS BEBER
NOSOTROS PONER
NOSOTROS VENIR
VOSOTROS ABRIR
NOSOTROS VISITAR
VOSOTROS DECIDIR
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Imperfect Tense

>P I 0L — WU —-—C>P»PoO<0O0O—Tm®>»» OTAHWM
Z2 4 —-<>» — > 00VDX»rP —>P T X —0<<TLC

«>» = =—-0ZZT>PZ00N0D>P—-ZMA>0O0XCWT
Z>WOEMmMOWARAIP»PSESNI>Pr—>»Z00WT O —
4 cCcownw>r»UvzZzmer — T —2>»®>— W0 >
NOZT> —ZM<P>WPB>PZ—-—-000MXTI?Z

TU CAER

TU TENER

TU TRAER
USTEDES IR

USTED TRAER

TU PATINAR
NOSOTROS IR
USTED ABRIR
USTED SALIR
USTEDES ANDAR
USTEDES SALIR
VOSOTROS LEER
USTEDES CANTAR
VOSOTROS SUBIR
NOSOTROS ANDAR
NOSOTROS LAVAR
NOSOTROS DECIDIR
NOSOTROS ESCRIBIR
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